A £ 0l & AF & S

SHIIZAELSEI A M

Al A

S BAD
M HolE Mgt
celr HA AHF(SFIIZAESERN) (S & 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
31 21,608,160 18,915,984 2,752,176
= 1,928,500
== 323,440
[Ea 19,416,220
HIlI=2 A+2st 14,064,479 13,664,981 389,498
= 1,928,500
< 323,440
T 11,802,539
A HFY(BHIIZAEELSH) 2,586,3%4 2,083,162 503,192
= 328,500
== 90,440
o 2,167,414
HIIZ Xl A 257,124 103,800 153,324
201 2= 114,100 67,800 46,300
01 AtR2t2lt] 95,400 57,400 38,000
Oget=ZH| 25,000
-0 HHEQHLE EX1 & 2= ME
150,000 x5 A+ 100 S H 7,500
—SYSJ| oE 23
150,000 5 A+ 10 S H 7,500
—WEESS =AU 222 A
1,000& %10, 0000H 10,000
OdEN =olHDI= XMlHE IS
=g 150,000 *12]%10 1,500
OFABAHE 2YES 78
500,000& * 122 6,000
OFASAE 290tA3 7Y
900,000& * 122 10,800
OFASAHE 888t E4 2,000
O30/ WAt st Xl 2
1,000,000 *32] 3,000
OHXX WA AXX 2
500,000 32 1,500
ONgE= 25 Xyl 800,000& *52 4,000
OOI0I A THAIS At =28 218
100,000 %123 1,200
OMEE Hi+= & =8 7Y
150,000& » 122 1,800
OEA2E (¥ .97 5) 7Y
300,000& * 122 3,600
OgX<S AE BHEXNE GIOIEHIOIA 25
Ar& 5,000
onNgEs =1 M| RAZ=+
300,000 +7CH* 122 25,200
OSUMHo o St WS A&
(230,0002 63! )+(& 2= 170,000 +63] ) 2,400




SN BAL
ma: M2 X5
Cel: 4 Y (SFINZAELSESN) (Sl X))
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
OSUMol o HHES F&
200,000 %122 2,400
2 55234l 18,700 10,400 8,300
OHJI=g3alb 3,300
O=H&J| ZAIDtHet HJIRs S
100,000& * 123 1,200
OHIIS(42, 1Y) NE2RY3 7
108+200,000kg 2,000
OBZB2X FAHAE 2l4d
1,000,000 *32] 3,000
ONgE sUIltd & AIE2EHl |2+
500,000 %102 5,000
OoNgE3 =1 M| &)z
50,000 +7CH* 12042 4,200
206 M=l 7,400 5,400 2,000
01 MZHl 7,400 5,400 2,000
OHEZS, HEX=HE S 7Y
100,000 *50H 5,000
OMEEHI+ M MI(OrdAlh)
2,0002+1,000kg 2,000
OLHEE HALZ HMS 7
20,0003 %1021+23] 400
207 AR 100,000 100,000
01 S| 100,000 100,000
OdzHlI= +~d=2HH ~8 =9 100,000
301 22N = 624 600 24
11 AALEIXIES 624 600 24
OOLOIAE MIHSHAL &4
8,0002 13 +63] 624
401 AlZHIZ SO 30,000 30,000
01 Al&H| 30,000 30,000
O=ESI| ZADHHcH & Sel& £X1
5,000,000 =6CH 30,000
405 AtaHE = 5,000 5,000
01 T ESFISHI 5,000 5,000
OJISU AR HNEAH =25 728 3,500
—2AXD| 2,000,000 «1CH 2,000
—HMIEDI 1,500,000 *1CH 1,500
OXd)| SHHSE St 228 0130
S Y 500,000 *3H 1,500
SENSE 2 200,000 168,000 32,000
201 et 3| 20,000 3,000 17,000
01 AlR2telHl 20,000 3,000 17,000
OZEHMES CIXQ! e (HE) A 20,000
206 M=l 125,000 115,000 10,000




SN S8
M HolE Mgt
ool A B (BFIIZALESESA) (S &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 125,000 115,000 10,000
OXDISHNSE M& 120,000
OXdI| SEMH S&F cMs s HE &
- 5,000
307 21201 & 55,000 50,000 5,000
05 git?(& = 55,000 50,000 5,000
OSEN=E & EFES SSUd /S 55,000
UQEmHDIS 2el 994,640 369,040 625,600
201 er2 3| 10,140 9,040 1,100
01 At2t2lt] 7,500 6,000 1,500
OUEHIIZ AEIH M
500& 15,0000H 7,500
02 S3=gHl 2,640 3,040 A400
OUEHIIZ EXNZMABIA =48 &
20,000& » 122 240
OUEHDIZ tHEAAS(HalZ SHO0IXI)
=2 2,400
401 Al HIZL 201 962,500 360,000 602,500
01 Al&H| 962,500 360,000 602,500
OUEHIIS(HSM) ISl
150,000 *700& 105,000
O=gHIIS(EX, UHE) A=Kl
350,000 x250= 87,500
OX&d Rl 22| & &4 20,000
OUEmII2 Hed T (FXY) 750,000
— 2 X0 701,000
—2ANEA S 49,000
405 KHaHE SH 22,000 22,000
01 Tt ESF=HI 22,000 22,000
ogseta 7Y 11,000, 0002 =2CH 22,000
BAXE WM ¥ |X2e 257,376 381,376 124,000
201 er23 | 257,376 206,376 51,000
2 35234l 257,376 206,376 51,000
O8AXtE 7= 750,000& «17CH*12& 153,000
OFLXg 7A 2=
500,000 x17CH*12& 102,000
OFAXIE PSAHHIA R
16,500 »120H* 123 2,376
HeEs =8 & & 31,612 31,612
301 LEtE NS 31,612 31,612
14 IIEt2 83 31,612 31,612
oNgss =& ddd=s
(702 %150,000kg)+(502 %100, 000kg) 15,500
Os%eld =8 243
(1,600 %8, 000kg)+(3, 680 *900kg) 16,112




2A:
X XH -
o e

=aak

Ofl &F2H

HMEE
Ofl &k2h

M H

167,173
16,940
150,233

153,330

101 2124d|

M

167,173
16,940
150,233

183,330

13,843

04 JIZtNZ22 XS 2+
OdZHIl=

af

v

—40f E8=

2cliiE E<0IAHE

9,620 *5AI 2t 11H+262 « 112

A H

167,173
167,173

151,323
16,940
134,383
15,850

153,330

13,843

MetE SUIitE 24X N3A

Mo W

200,000
75,000
30,000
95,000

200,000

401 AIZHIZ 20

Mo W

200,000
75,000
30,000
95,000

200,000

01 Al=H|

OoNgEs= sulotg 4

nx

Xl

20,000,000 * 100 2~

HoH W

200,000

200,000
75,000
30,000
95,000

200,000

dsHIlE =X

M

50,000
15,000
35,000

40,000

10,000

EUNGE

50,000
15,000
35,000

40,000

10,000

M

50,000
50,000
15,000
35,000

40,000

10,000

SZEHHYE =H2d=

HH W

72,000
18,000
18,000
36,000

72,000

H

72,000
18,000

72,000




SN S8
M HolE Mgt
chel HA P (BAIIZANLESLSIA) (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 18,000
s 36,000
14 IIEt2 8= 72,000 72,000 0
OgsHbld N2 80&+900,000kg 72,000
= 18,000
< 18,000
[Ea 36,000
SSdotd =& X 35,000 60,000 /25,000
= 10,500
== 10,500
[Ea 14,000
401 AIEHIZ R 0HYI 35,000 60,000 225,000
= 10,500
=S 10,500
s 14,000
01 AlZ8| 35,000 60,000 /25,000
OYsHlY M5HE &
5,000,000 7 2= 35,000
= 10,500
= 10,500
o 14,000
otMGt= MeJ] FotAte 321,429 321,429 0
= 225,000
T 96,429
101 @124H| 84,272 84,272 0
= 58,990
= 25,282
IS EES=EPS 84,272 84,272 0
OBt 2RMAI| 434 eIt
73,2802 x25F «46 84,272
= 58,990
o 25,282
201 et 3| 20,000 20,000 0
= 14,000
Ea 6,000
01 AfR22IH| 20,000 20,000 0
OBl SQMYI| £XHXZ LR
4,000,000 =4CH 16,000
= 11,200
o 4,800
Odt7 FR4I| =HES 4,000
—M&PISE A 1,000 *1,0000HK 1,000
= 700
[Ea 300




M 23
M HolE Mgt
celr HA AHF(SFIIZAESERN) (S & 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—SESI € ¢UE S £X
100,000 * 1404 A 1,400
= 980
= 420
—dAEE 7Y 200,000 +83] 1,600
= 1,120
[ 480
401 Al HIZL 201 217,157 217,157 0
= 152,010
= 65,147
01 Al&H| 217,157 217,157 0
Ott7 224e0] 2IEH2I(700) 217,157
= 152,010
Ea 65,147
HOI2 XMelAd 2S(8FINZALSEN) 11,468,125 11,581,819 A113,694
= 1,600,000
= 233,000
Ea 9,635,125
HYIZXCIAIE el 670,386 613,502 56,884
201 er23| 389,430 354,196 35,234
01 AtR2te|HI 83,684 54,250 29,434
Odgt==H| 61,834
—HEs =EIMOHES)
220,000& * 1090 A x42 | 8,800
—HES LRSQIHES)
200,000+ 10 A+ 12002 2,400
—XE=(201ER)
150,000 *4 A %42 | 2,400
— S LA (20MHES)
3,000,000 x2IH 2=+ 13] 6.000
—OIRIE BHRIDIA AEAA
350,000 *2IH 2+ 12 700
—AAIEE MYE NES =ZEA
770,000& *4:=2 J|*20H 2 6,160
—SASMDINCIAIE FIIEA
2,000,000& * 1 2-*12] 2,000
—SAMSFHDIZ 080 /- 4+
g 100,000 8% 800
—ABB20EE FII2A
3,000,000 x2 4 2+ 13] 6,000
—2=gs AEE
14,3003 * 1 A+ 1200 2 172
—&=0/(500), SIEFDI(6Uh) ez
51,0002 *11CH* 1204 6,732
—Ed FozH=E4
400,000 128 4,800




S EED
Zal: M2 KR

Sl HII2 HMEIAIM 2 (BAIIZALSHSIH) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—gE =eae 240 At
585,000 x12]+6 3,510
—dojerdae| 49 700,000 * 122 8,400
—HZ& OV ==& 100,000 «12& 1,200
—ZSHED| =8 30,0002« 12& 360
—IJIElE =5 100,000& « 12& 1,200
—3ld AEBE  AUSIHE X3 SU=
50,0002 x4 71 200
OHPISXICIAE 2223 7 5,400
—Zef EW7Y 240,000 22|55 2,400
—AgZe] 224 HIE 7Y
750,000 +42] 3,000
OUEE &IIA XAIMES SA
1,000,000 *14] 1,000
OSUHaoY 25 P (HEE X HdEH)
400,000 *4:= J |20l 2 3,200
OMEE % HEESHEE Xolsnas
500,000& *204 2-+12 1,000
OSAERHIIES=+E EFES A
250,000 458 A 11,250
2 Ss2g4l 305,746 299,946 5,800
O382= € HA 138,000
—& - otk AER=
500,000& 122 6,000
—HEEAIEU HIIQ3(BE L M0
&) 11,000,000& * 1290 & 132,000
OAlZ EHIs Xl 36,000
—MHESHEY AEEHl RX2cil
2,000,000& x4= 7| 8,000
—dEHDIS gy A2l
10,000,000 * 10K 2= 10,000
—HEE A=24d &€ da X2l
5,000,000 *14 5,000
—NESSHEE RA2Y
5,000,000 *17H 2~ 5,000
—&E= XM2lAlE |Al2clbl
3,000,000 * 10 2= 3,000
—SA8 MelAld |X2tel
5,000,000 * 104 2 5,000
OlgHllZ M2FE=s 99,346
—OHEAIE
158 +5,600,000kg*1.0448HS K| == 87,360
—SASFHDI= S3X2AE
252 %317,000kg*1. 04&HE X 2= 8,242
—NesdEd
1581%240,000kg1. 048 E X == 3,744
Ol |FH (24012, 202, LARIEH,
SEXEH) 400,000 6CH+ 122 28,800




SN S8
M HolE st
ool HDI2 MRl 2Y(BBIIZALSEEN) CEERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZHl 2EEE (24012, 2202)
900,000 *4CH*1H 3,600
206 M=l 45,956 47,306 1,350
01 M=4l 45,956 47,306 1,350
OUEH 29z 540,000 65 3,240
OAEZZ HE573
500,000 *4 K 2,000
OE& JtAxZE 2t 100,000 «9H 900
OHJISXMeIAE SHMAN, RS
90,0003 * 152t A 1,350
D4 HIHIE LA (45) 7L
11,0002 4862 5,346
OMEeE 2elde 28 DHH(40kg, 500kg)
7,000& *2,0000H 14,000
oNgss g=)| &2
1,000,000 x4 71 4,000
OSAEFRHIIZ =HEI| 7 15,120
—HESNSI(LLE 12021H)
40,0002 *90H 3,600
—HEFHEI(LLZ 602IH)
32,0003 *360H 11,520
401 Al HIZ S 0HbI 235,000 135,000 100,000
01 AlZ2H| 235,000 135,000 100,000
SAESXCIAE == D] X
100,000,000 * 14! 100,000
OSNERHIIE XHol8Y Z1 7ie X2l
9 300,000 ~&25E+0& 135,000
HOIZ XelAl4 Cl2tiE 1,091,539 992,317 99,222
307 el2to| & 1,001,539 992,317 99,222
05 212t =S 1,091,539 992,317 99,222
OsA=FHIIZ =8, 2% & XM2lAME 2
g 22l S 90,961,510& 1204 & 1,091,539
HEHI|I=2 ZH 22ZAE =N 3,977,000 2,809,000 1,168,000
308 AFAIEHMSOIE 3,977,000 2,809,000 1,168,000
07 X2 EE2 3,977,000 2,809,000 1,168,000
OAZAIE 293 goll 2EAI 3,977,000
— A& AIEHI 540,000
—==0XE= 3,000,000
—&H =8| 437,000
HOISHMelAE (&) 3,790,000 4,167,000 A377,000
= 1,000,000
Ea 2,790,000
401 Al HIZL 201 456,000 3,500,000 A3,044,000
01 Al&H| 456,000 3,500,000 /3,044,000
OUHRIEE X sXdERE=S 56,000




2A:

X XH -
o=

2F

HII=Z AHAs

ool HDIS MelAd 2(BAIIEAESEE) (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OUAUMEAIE IR0 S 400,000
403 MR HHMSAHE01H 3,334,000 667,000 2,667,000
= 1,000,000
o 2,334,000
02 SISO St =2 A P E A I 3,334,000 667,000 2,667,000
Ot HEHDIZS HEAE SF3H ?S 3,334,000
= 1,000,000
s 2,334,000
FIILHDIIS S8 HHOIItASH Al 1,464,200 3,000,000 1,635,800
= 600,000
s 233,000
s 631,200
403 AXIEHHSAH=201H 1,464,200 3,000,000 1,535,800
= 600,000
= 233,000
o 631,200
02 SISOt =2 A 2 E A I 1,464,200 3,000,000 1,535,800
Ogoiz RIIGHIOIQIIASIAIE S#F3E
S 1,464,200
= 600,000
= 233,000
Ea 631,200
SMEFHIIZE Ml A& 475,000 475,000
402 2I2F X201 & 475,000 475,000
01 I SASE X (RHMITHR) 475,000 475,000
OJIE 8 SAaSXdDI Meldl 23 475,000
e 600,000 =100 Al TH 60,000
—CERHA O 500,000 30l CH 15,000
— 2 EEAITH 400,000 *1, 0004l CH 400,000
Hegs(Ezdn) 7,080,000 3,000,000 4,080,000
HEHAHXIE(SZIIZAILESESIH) 7,080,000 3,000,000 4,080,000
HIOISHM2IAIE FEAD X2 dE= 7,080,000 3,000,000 4,080,000
R I1sdES 7,080,000 3,000,000 4,080,000
01 JIsdES 7,050,000 3,000,000 4,050,000
OHIIEXcAlE =8NS F2UXA=S 7,050,000
Y 2HAH| (22 1) 563,681 2,250,763 1,687,082
CIARAH|(BHZIIZAIEEESIA) 563,681 2,250,763 1,687,082
A z=gt2te| Q2| 244,298 2,066,573 1,822,275
101 e124d| 225,388 2,047,663 A1,822,275
M ORINZZ2NSE S 225,388 120,393 104,99%
OF JI=2EA JI2HHl 2l 24y|
76,960 x26 L x 12 x4 H 96,047




M 23
M HZYRAZHI(2EM)
CHel: ol 2ol (B20|ZAILSEEIH) (cre): xg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OsJt284 JI2H 428
300,000& «12& ~4H 14,400
OR3EYLY
76,960 * 4L 122 »4H*1.5 22,165
O8 Jt2F 4 J12HAl LI=sHI(t& )
100,000 4 & »23] 800
OSFZHEY JI2HMl Q14|
76,9603 x282 x 12«3 77,576
OSFZHEYS JIZHHl 428 =
300,000 123 +3& 10,800
OXt =28 JIZN22 A tEEH 2
100,000 18 & 22| 3,600
201 er23 | 14,880 14,880
01 At2teltl 14,880 14,880
OS24 II=HI(EAHI) 14,880
—or gt 100,000& «31H*23] 6,200
—zoe 100,0002 #3124 x2& 6,200
— N9 80,0002 *31H«1& 2,480
202 04l 4,030 4,030
01 2LHoIH 4,030 4,030
OBABE HTX 28 0]
130,000& %31 4,030
HYISXCIAIE 523 319,383 184,190 135,193
101 212A4H| 319,383 184,190 135,193
04 JIZtN2 2N S 2+ 319,383 184,190 135,193
ONEELE JIZN22A 2=
76,9602 x252 12 1204 277,056
OMEsHE JIZtNZ2 24t 40 285
277,056,000 *11% 30,477
ONgESHE JIZHN22 A X =H| 3,000
Oul=t| 6,600
— &5t 120,0002 x 15 *23] 3,600
—&gs 100,000& 15 «12] 1,500
—OIHD U QIF A
100,0002 x 152 *13] 1,500
o222kt S2AH2H Y|
150,000& 15 2,250




A £ 0l & AF & S

20233 204k BHBII=AILSESIA A

Al A

SN MBS
-
CHol: SIABIEH L RX(HHIIEAILSESIH) (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ot it 12,286,910 16,473,180 23,186,270
= 3,553,000
== 889,000
[Ea 7,844,910
ot=& 2t 12,286,910 16,473,180 A3,186,270
= 3,553,000
< 889,000
= 7,844,910
St A8l & SA(SZIZAESERA) 2,128,000 3,629,000 21,501,000
= 994,000
== 316,000
o 818,000
o2t BHl € =4 500,000 530,000 /30,000
401 AlZHIZ 20 500,000 530,000 /30,000
01 Al&H| 500,000 530,000 230,000
OdE0t= Bi+=&Hl &4l 500t 200,000
Ok= otxd2, iz S o=k A3,
g s 300,000
goli2 o2t Zdl At 902,000 2,599,000 21,697,000
= 631,000
= 135,000
= 136,000
401 AIZHIZ SO 902,000 2,599,000 A1,697,000
= 631,000
< 135,000
s 136,000
01 Al&H| 902,000 2,404,000 1,502,000
Odt==2tZ &1419.4km 902,000
= 631,000
< 135,000
[Ea 136,000
H2xt ol ==ot=2t2 FHI(1EHH) 726,000 500,000 226,000
= 363,000
== 181,000
[Ea 182,000
401 A2 HIRL 201 726,000 500,000 226,000
= 363,000
=S 181,000
s 182,000
01 A28l 726,000 500,000 226,000
O2ZFHI(=Z3 HIZ2%) 22REE (25,
HIZ2) 726,000
= 363,000




SA: AGH
X XH -
D

=aak

=
A=
0x
==
He
10
>
o
(O
S
P
=
X
Jm
ng
ol
=
A
I
[pal
{0

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

181,000
182,000

A H

0
2
i
=]
o
_Ovj
I
i
04
=S
o
oY
~
b
=
nx
Jm
%
fo
i~

3,708,000 5,697,000 21,989,000
2,559,000
573,000
576,000

HoH W

OIFOA =28 IHFMAMHE FHIA ot=HelH 1,429,000 4,105,000 2,676,000
1,000,000
214,000
215,000

HH W

401 AIEHIZL 2 0HYI 1,429,000 4,105,000 A2,676,000
1,000,000
214,000
215,000

Mo W

01 AlZHI 1,229,000 3,831,200 A2,652,200
Odt=HMel 79 544, ot=2t2 26.1km 1,229,000
860,000
184,000
185,000
02 Zcldl 200,000 221,800 /21,800
Odt=HMel 79 544, ot=2t2 26.1km 200,000
140,000
30,000
30,000

Ol
P

MW

Ol
P

MW

tol
o
i
4
H
10
0
2
I
=]
o
o]
i
H

,015,000 1,163,000 148,000
710,000
152,000
153,000

Mo W

401 AIZHIYL 20

—_

,015,000 1,163,000 148,000
710,000
152,000
153,000

Mo W

01 AlZH| 915,000 1,074,000 159,000
Odt=Xel& 2004, 22 20.4km 915,000
640,000
137,000
138,000
02 Zeltl 100,000 87,000 13,000
Odt==HMeld 20, ots2t2 20.4km 100,000
70,000
15,000
15,000

el
N

HoH W

HoH W

OIFDATH R AGH S (2EH H ) S HEOLS St=E XA 909,000 429,000 480,000




2A:

M e 22
Hol: SOIEOFS oI ERHI (2T ZAIE S5 (SHol: )
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
= 636,000
= 136,000
= 137,000
401 Al HIZ 20| 909,000 429,000 480,000
= 636,000
& 136,000
i 137,000
01 AlEHI 909,000 429,000 480,000
Odt==Xel& 344, ot==2=Z 13.1km 909,000
= 636,000
& 136,000
i 137,000
gal, Scl ol=XelAld XAt 355,000 0 355,000
= 213,000
& 71,000
= 71,000
401 AIEHIZL 2018 355,000 0 355,000
= 213,000
= 71,000
o 71,000
01 Al&HI 355,000 0 355,000
Odt=Held 70m/, 22 5 2km 355,000
= 213,000
= 71,000
= 71,000
BHEDIZAIE 22l - 2Y(S-EIIZAIESESI) 6,450,910 6,147,180 303,730
BZI|IE=ANL 29 3,073,610 2,979,880 93,730
201 Let2| 1,681,610 1,594,180 87,430
01 ArR22teltl 88,070 95,120 AT,050
Oget===H| 8,000
OoFgg Q2N 222 M2
5,00001*150& 750
O==ZESE = Z A 3,000,000 *1JH 2 3,000
O=ZAMSE = Z AL J=XI&H|
5,000,0002*1JH 2 5,000
Ogd 24 >2(EL2H NNHIIEE, 2
FEINHALSO0IAE S) 10,000
Odt=Hel& ZoAIAE AIE=
200,000 x 1000 A+ 12 24,000
Odt=HMel& Xtgk elAdl
800,000 x2CH+ 12 19,200
OEII=AE A=S2HA 29
110,000 *123] 1,320




2A:

I ol 2el
TPl BIIEAIM B2l - 2S(BAIEALSLS ) (69 =)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OS&otxelAIE )| 2 ESH
500,000 %122 6,000
OSF4 5427 & Hd2F Sl
8,000 x2& »50! 800
OSEot=MelAlE AFHEI B A
2,500,000 42 10,000
02 S5=g4l 1,593,540 1,499,060 94,480
O=s2= & HAl 936,120
—ot=xcld &MIIes
70,000,000& 123 840,000
—StaREE AT
350,000& * 122 4,200
—ol==& 2|y 3,000,000& *13] 3,000
—SEZAl U AIE=
70,0003 #7804 2+ 123 65,520
—E2XcE HIIes
1,950,000« 128 23,400
O=ZMS FXIZel(2H =)
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